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PMR MATHEMATICS — ASSESSMENT 1 [ANSWERS]

. Q o R
- X° =180° —120° — 40°
=20°.......... (A)

180° — (50° + 50°)
= 180°-100°
= 80°

P = 300° — (130° + 30° + 80°)
= 360° — (240°)
~120°......(C)

j+k+l+m+n

= 45° + 45° 4+ 45° + 90°
=90°+90° +90°
=180°+90°

(180°-120°)

ZRSQ = ZUST = =30°

<. X =120° - (30° + 30°)
=120°—(60°)

ZSTR =180°-70° =110°
ZTSR =90°-50° = 40°
- X =180°-(110° + 40°)

6)

ZGHO = ZHGO
=(180° -120°)+2 = 30°
x =180° - (110° +30°)
=180° - (140°)

) 0s=0R=+RT?+0T?

2
= .[12% + [EJ
2
=4/144 + 25
=+/169 =13cm

~TS=0S-0T
=13-5

=§><88=66cm
4

.. Perimeter =66 +14 +14
=94cm...... (B)

9) Median=4,4,5,8,9,

10) .. Nov + Dec
= (7+5)x5=60.....(C)
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11)

12)

13)

14)

15)

16)

=2q(3p+5r)....... ©)

(x + 2y) (2x-5y)
=2x* —xy —10y?

= 2x* +[-xy]-10y?

1
=X+—X+x-4
y 2

_2x+x+2x_
2
5x
=— 4. D
5 (D)
2 x-1_4-(x-1)
3X 66X 6X
_4-x+1
6X
5-x
= C
o (®)
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